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1. %1 R @I oiftbt o9 Twe foi - 4x4=16
Answer any four of the following questions :
(@) R T 78 =1 @Rt IRR A a9l 90 @
GM? = AM x HM.
Prove for any two non-zero values that
GM? = AM x HM.

(b) <Ol TIB FEW RSN W e
ARRee forat |

Write the requisites of a good measure
of central tendency.
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(2 )

(c) NI Az WH HAEUA H2o YOI ES 4Pl
Aahhl Zae Al |

Prove the relationship  between
coefficient of correlation and the two
regression coefficients.

(d) o aa wzpe ffen de@a swmHaE
A T4 |

Explain, with the help of a scatter

diagram, the different types of
correlation.

(e) G iz aw Aodiesa a4 w4l |

Explain cost of living index number.

(H  FrE caf oo AE A @[ AT i
e i vl for |

Write the additive and multiplicative
models used in time series analysis.

2. (@) (i) TG, NGR AE I TS 43 TIHD!
foral | MG WF I GOlF A2
ferat | 4
Write the relationship between

mean, median and mode. Write

one example each of median and
mode.
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i) Toe fm o 5edE Tnew

No. of Persons
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V)

(i1)

(iti)

zons A4y 39 -

Calculate the coefficient of quartile
deviation for the following data :

~J

: 50-60 60-70 70-80 80-90 90-100 100-110

10 14 20 13 8 6

FOTTE BN oieh o &l 4

Write the four properties of
correlation coefficient.

e TRl SYR o[ I Eeane TEE
2 T [dg T4 -

Calculate Karl Pearson’s coefficient

of correlation from the data given
below :

n=12, Zdx=-5, Zdy=-6,

n

sdx? =225, £dy? =704, Zdxdy =306

THe Ml SR o[ TR ARSI 7O
Sfreat - 7

Find the two regression equations
from the data given below :

x 35 42 20 50 72 64 60
y:40 48 24 60 84 68 56
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(b) (i) AN IV T TTTTE QT FIETR INF
R FTIE g | 4
Prove that the correlation

coefficient is the GM of the two
regression coefficients.

(i) S=e TR eyfkFR |@ @ T
B I &dfy = .
Calculate the coefficient of rank

correlation from the data given
below :

x : 48 33 40 16 65 24 18 44 20
y: 13 10 24 15 50 20 16 21 18

o

(ifi) 299 I @ I PETSIR TOTEE TR
T TERY WE TR 9P SO
ETE 92|

Prove that Karl Pearson'’s
coefficient of correlation is not
dependent on the origin and scale
of measurement.

~

4. (@) (i) TIIT LT @UIW W7 ASFRA

ar f7et 4

What are the different types of
index numbers? Name each of
them.
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(6)

(i) 2R A @ WFHRA oL TR AfSe

et Brm @)

Pro_ve that Fisher’s index number
satisfies time reversal test.

{ul)wmww'mﬁ‘qyimw

(7))

(i) Gfewd ez am e felb aazA

fordl | oore frgl we@ d@ Gifewt e
A HRRT e F@

Write the three uses of cost of
living index number. Determine the
cost of living index number from

GIPIE 9 A N T SHPRFA T the following information :
fefe = e fofg T&aa 3o | Hre I®AT 77 A
Find the price index number from ltems Price of Price of Weight
the following data using Paasche the Base year|the Current year
and Laspeyres index number %/ Food 30 a7 4
formula : =1/ Fuel 8 15 1
Py FC[A/ Clothing 14 18 3
= fofE &7 blere I%9 7@ S1wl/House Rent 22 15 2
ftems Base year Current year TR/ Others 25 30 1
T | AR | g ) | e
Price (¥) | Quantity | Price (?) | Quantity 5. (@ (i) 9 «fo wele wEEeR faw <5 51
A 4 10 6 15 Gl o | 4
2 6 15 4 20 Write a short note on seasonal
c 8 16 12 6 variation in a time series.
(i) oS fml oYA o[ 4-TAW S T
123t / Or AN e IR el ey w4 5

Estimate trend values by using 4-
yearly moving average for the
following data :

() () T FW @ YR T T3
ofSrm @S wE  Seotmr e

el Fra A 8 3% : 2001 2002 2003 2004 2005 2006 2007 2008
Prqve that‘ Fisher’s index number S
satisfies time reversal test and ARF : 60 46 53 54 48 48 42 5]
factor reversal test. ‘ Sale

24P/377 24P/377 ( Turn Over )

( Continued )



(iii) FTST I ANA A IR S fr

SYR o ATl @@ e 7
Using least squares method,
calculate the trend line equation

for the data given below :

S 3 : 1991 1992 1993 1994 1995
Year
I+ 104 100 96 86 9
Value

N3 / Or

(b) (i) @B I T IFIPW  HITS @
y=12+1-44t (WY 1990, 11 93
= 1 IQ) @ TG 1995 BHs &
TSl (I Sfersdl | 4
If the annual trend line equation of a
time series be y =12 +1-44t (origin
1990, tunit = 1 year), find the trend
line equation with 1995 as origin.

(ii) TS Tl SR @ 3-IIP 5HB NG
Tferear . D

Calculate 3-yearly moving averages
from the data given below :

™I : 1975 1976 1977 1978 1979 1980 1981
Year
W : 12 14 15 27 28 31 29
Price
(iii) I 1T RoER Ry S Fyreor
Ry e 4 3+4=7

Discuss the uses and limitations of
time series analysis.
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